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Sigma of Pedestal
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Pedestal — Sigma of Pedestal
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ADCsum - Pedestal
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Cut condition

ADCsum|[0] {Pedestal[0] > 920} ADCsum([0] {Pedestal[0] > 920 && sigma_pedestal[0] < 1000}
_ htemp htemp
450F Enties 4304 120 Entries 3218
- Mean 2151 » Mean 1316
4001 Std Dev 2028 - StdDev 1138
- 100{—
350— B
300— 80—
250 — B
— 60—
200— B
150 — 40—
100— B
505 20—
UZIIIJ_lI.L.I.-.LIlIlllllllll ST T | B L L0 T T e
-10000 -5000 0 5000 10000 AD}?OOOO 0 -1000 0 1000 2000 3000 4000
sum([0] ADCsum[0]



Binning?
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Fitting result

Edouble finger_ftidouble =x, double *par)

Integrated_ADC {
Integrated_ADC /¢ double ped = 168.5;
. double ped = 15.5;
150! Eg]t”es 3218 /4 double sigma_noise = 410.5;
xZ / ndf 260.4 / 52 double sigma_noise = 200.5;
p0 1145+6.5 -
double xx = x[0];
p1 435.3+12.6 double v=0;
100— p2 134.6+5.6 double v0 = exp{~(xx — ped)*(xx — ped) / (2 * sigma_noise*sigma_noise)):
p3 1146+ 4.6 double v1 = exp(-(xx — par[0] - ped)*(xx — par[0] - ped} / (2.= par[1] = par[11});
p4 104.1+ 4.9 double v2 = exp(—(x¢x — 2 * par[0] - ped)*(>ex — 2 = par[0] - ped) / (2.% par[1] = par[1] /7 2.));
= double ¥3 = exp(—(xx — 3 = par[0] - ped)=(xx — 3 = par[0] - ped) / (2.= par[1] = par[1] 7/ 3.));
p5 36.11+2.80 double vd = exp(—(xx — 4 * par[0] - ped)*(>ex — 4 = par[0] - ped) / (2.% par[1] = par[1] / 4.));
50— double v8 = exp(-(oc = 5 = par[0] - ped)=(ox = 5 = par[0] - ped) / (2.% par[1] = par[1] / 5.0);
double v6 = exp(—(xx — B * par[0] - ped)*(>x — 6 * par[0] - ped) / (2.* par[1] = par[1] / 6.));
// double fitval = (par[2] » ¥0 + par[3] » w1 + par[4] » w2 + par[8] * v3 + par[6] * w4 + par[7]
double fitval = (par[2] = v0O + par[3] = 1 + par[4] = w2 + par[5] = ¥3 + par[6] );
0 | | | return Titval;
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ADC
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